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QUESTION 1

To which protocol does the header belong?
A. Internet Protocol version 6

B. User Datagram Protocol

C. Ethernet Protocol

D. Transmission Control Protocol

E. Internet Protocol

Correct Answer: A

QUESTION 2

Which commands can you use to save the switch configuration changes, so they survive a switch reboot? (Select two.)
A. copy running-config checkpoint backup

B. store memory

C. write memory

D. copy running-config checkpoint startup-config

E. save memory

Correct Answer: BD

QUESTION 3

To which protocol does the header belong?
A. User Datagram Protocol

B. Transmission Control Protocol

C. 802.11 Wi-Fi

D. Ethernet Protocol

E. Internet Protocol

Correct Answer: E

Latest HPE3-U01 Dumps | HPE3-UO1 VCE Dumps | HPE3-UO1 Study Guide 2/3


https://www.pass4itsure.com/hpe3-u01.html
https://www.pass4itsure.com/hpe3-u01.html
https://www.pass4itsure.com/hpe3-u01.html

. VCE & PDF https://www.pass4itsure.com/hpe3-u0l.html
g 2024 Latest passditsure HPE3-UO1 PDF and VCE dumps Download

— PassditSure.com

QUESTION 4

Which characteristic allows switches to mitigate collisions?

A. The switches support VLANSs that segment the collision domains.

B. The switches use L3 protocols that eliminate collisions.

C. The switches\\' ports are independent collision domains.

D. The switches have proprietary features that help eliminate collisions.

Correct Answer: A

QUESTION 5

Which protocol provides frame delivery using physical addressing and error detection using frame check sequence?
A. Link Layer Discovery Protocol

B. Ethernet

C. TCP/IP

D. User Datagram Protocol

Correct Answer: A
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